Four Levels of Reflection: Crisis in Russia and Animal Farm

The author quotes Marx’s use

g of the phrase the “means of
— production” twice in paragraph
§ six. Define what you think
= Marx means by the phrase and
% give an example.
)
=
Paraphrase the bolded line
from paragraph 7:
T>J Communism would be a social
9 form wherein Capitalism
8 system would have ended and
S the working classes would be
= . .
= the sole beneficiary of the
0 "fruits of their labour.”
Explain what paragraph 6
discusses and why it is in
_ included in the article since
% Karl Marx was not Russian and
| was not in Russia in 1917.
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Passage Level

How does Chapter One of
Animal Farm represent both
pre-revolutionary Russia and
the idea of Marxism? Use
details from both this article
and Animal Farm to support
your answer.




